llepesenn.

e 8CM 3 MM = g3 MM
e 14 MM = 1 CM 4 MM
e 200 c™m = ) M
’67I[M:6 M 7 M
'550M=5 M 5 CM

e 73 MUH = 1 Y 13 MuH




Havign ommOky

9x4=36

64:8=8 7
7x9=63 7
9:3=3

32:4=8 54
S5x9= 45

9x9=81

36:6=6

42:6=8




Haiinn ormmuoxu

e /mMm 3cM=73 M
e 6iM = 600 MM
e34MM=3 cM 4 MM
e S7TmM=35 cM 7 oM
* 80 cM = g0 MM

* ludmun= g4 Mun

e /4vMua =149 14 MmuH




Havign ommOky

e 7cMm =70 MM
.32ﬂM:3M2I[M
 400MM = 40 cMm
e5SIMmMm=5cMm 1 Mm
*3M= 300 cm

e ] Mm=100 cmMm




CocTaBb PaBEHCTBA WU
HEPABCHCTBA

= 3x9
0x3 > 30-6 <
= 30-3

ey






HAUTHU 3HAUYEHUS BBLIPAKEHUU

q 2]

a=49

a=23)5

63

S
|

BXS8

IIpu ¢=9
IIpu =28

IIpu ¢=7




CpaBHH

e20M4cMm € 42 cwm
S5cM5MM € 5 am
3CcM » 18 MM
e3M4 oM = 34 om
2M = 200 cm
*14Y15MHUH <« 115 MKH




o s

e Ecau C= 24,
1024 :24 =1
e Ecoim C =3,
1024 : 3 =8
e Eciu C =6,
1024 :6=4

e Eciau C =8,



llepesenn.

e 8CM 3 MM = g3 MM
e 14 MM = 1 CM 4 MM
e 200 MM = ) M
’67I[M:6 M 7 M
'550M=5 M 5 CM

e 61 MuUH = 1 91 MuH




cnpaBb OIIKOKY

* 6x4=24
* 5x9=45
*36:6= 6
e 3X6=48
*63 :7=9
* /X 7=49
e 30:4=R




CpaBHH

°42:6 < 56:7 =
3x7< 6x4 <
°45:5 = 36:4 >
*7x7 > 33-5

e Tx9 = 25134
*8x6 ~ 7x7
4dm 40 am

- g Ve




BeIipasu:
e 104 cm = 1 M 4 CM

e 45 MM = 4 M 4 M
*0cm= ¢ 1M

e ISMM = 1 M 5
* 64 MUH = 1 94 4

e 70 MUH = 1 q

10




Hant pasHocts 67 m C

67 —c
C =60
C=49
C=9




Hamtn cymmy a4 u 39

a-+ 39
ca= 57
a=2§
ea=1







18 x4 =72

40

32



(50 +35):5=17

10 /
4



